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. BREG (B | = ESEIN
W SIMES IRE AL ERME | B S| BREX50%+E IEE"S;;
ftﬁy,d\XSO%) =
RES | 21010%xxxxxxx1411X 1S 81 87.4 84.2 2
XMERR | 21072%xx#xxxx80015 b0 b 80 88.2 84.1 2
% 21138##xxxxxx60827 1S 82 86.1 84.05 yos
1] 2101 0%xxxxx%x30910 L& 85 82.4 83.7 2
BEIE | 21122%xx000xx60612 1S 84 82.5 83.25 yos
Bl HE 21010#**xxxxx23425 b0 b 83 82.6 82.8 2
BMER 37292 xxxxx%%x52125 150E 80 85.4 82.7 7=
FNIEEE | 21010%%xxxxxx45620 1550 82 81.5 81.75 =
RER | 21010%xx00#xx15610 1S 78 85.2 81.6 yos
P EpES 2101 2#xxxxxxx0302X 1 78 85.1 81.55 =
AN | 21012%0000xxx90628 15 82 79.6 80.8 =
LI 21010#**xxxx+63616 1 78 83.5 80.75 5
M 21060#**xxxxx93021 1S 82 79.3 80.65 5
ZEE | 21010%x00xxxx55048 &5 81 79 80 5
XFVK | 21012%x0kxxxx71028 1S 81 78.2 79.6 =
B 21010#**xxxxx34715 1S 80 78.2 79.1 =
B 21071 0wkrxxx5%60612 1S 79 77.3 78.15 5
FEFHE | 21010%xxx0xxx24763 1S 79 73.8 76.4 =
THEE | 23022xxxxxxx41025 1S 80 70.5 75.25 i
ERFS | 21010%xxxx+xx82776 L& 78 63.2 70.6 5
=% 21010#**xxxx+13028 23T 1E 79 91.8 85.4 2
BIFAB | 21010%kwxxrx13323 231 79 90.5 84.75 yos
F#H 21122sxxxxxxx54029 2HTIE 80 89.2 84.6 =
BKFERE | 21010%######%23313 2HiE 85 82.3 83.65 v
A& 21030%#kkrnnx 72227 2HTIE 82 85.3 83.65 2
BEfi— | 21040%xxxxxxx04229 231 80 86.6 83.3 yos
=HiE 21010%xxxxxxx13614 2HTIE 82 84.4 83.2 2
B 21010%x#*xxx45826 231 83 83.1 83.05 yos
KRB | 21010%%%%xx13718 2HTIE 79 86.9 82.95 2
SRl | 21040%kxxxxxx30924 234 79 86.7 82.85 &
BRF+ 21010%xxxxxxx6412X 23T 1E 77 88.1 82.55 2
RSEAR | 21010%xxxxxxx45328 231 78 87 82.5 yos
FEXTE | 21012%x0kxxxx04229 23T 1E 83 81.9 82.45 2
OHEE | 21128xxxxxxx+03028 23 1E 78 86.9 82.45 yos
FRE 21010#**xxxxx 70426 23T 1E 78 86.2 82.1 2
XEBE | 2101 1xxxxxxxx50326 231 81 83 82 yos
RS | 21010%xxxxxx30345 23T 1E 84 79.9 81.95 2
X 21010#######%x34413 2T 80 83.2 81.6 s
K FF 21142##xxxxx+65646 23T 1E 78 85.1 81.55 2
Fi 21010#*#xxxxx51821 23 1E 80 82.4 81.2 yos
BER | 21010%x0xxx72711 23T 1E 83 79.3 81.15 2
{RINTT | 21132%xxxxxxx90023 2FiE 81 81.3 81.15 2
FAMESE | 21010%xmkxxxx62445 23T 1E 78 84.2 81.1 2
P | 21010%x0exxxx94128 23 1E 77 84 80.5 =




FHYLA | 23020%x#xxxx00322 231k 81 79.7 80.35 &
%B—N | 21010%#xxxexx3183X 231k 77 83.6 80.3 =
AT 21018#*xxxxxx70926 23 1E 78 82.1 80.05 s
KR 2101 0#*xxxxxx64752 23 1L 80 78.8 79.4 =
BINEL | 23232%xxxxx%xx80228 2F1E 78 80.8 79.4 &
e 2101 0#**xxxx+64433 231k 80 78.4 79.2 =
oK A 21010#**xxxx+45049 231 82 75.9 78.95 &
FHEFR | 21010%#####+x53416 2T 83 735 78.25 5
FFIFL | 21072%x0kxxxx94327 23 1E 84 71.8 77.9 =
By 21128#xxxxxxx00621 2FtE 79 76.1 77.55 &
SBEH | 2101 1xxmrrsxxd3242 23 1E 78 76.3 77.15 =
BSOS | 21132%xxxx%xx03036 2FiE 81 73.2 771 &
BB 21010#**xxxxx54426 23 1E 79 73 76 =
MEEFE | 21010%kxxxxxx44920 23t 81 70.9 75.95 =
NG | 21032xkrrxxx12226 231k 77 74.9 75.95 =
MENE | 21012%m00006642822 2 80 70.9 75.45 &
FBETF | 23232%kkkxxxx36722 231k 79 71.1 75.05 =
RUNEE | 21028###xxxxx32826 2 79 69.9 74.45 &
FiBH | 21010%xxxxx96021 231k 78 67.6 72.8 5
T i 21010%#kkkxxx30662 2T 83 0 415 &
ZSFUBA | 21030kkxxxx21225 231 81 0 40.5 &
FERE | 21010%000xxx53413 2T 78 0 39 &
kB | 21010%xxxxxxx01739 2HTIE 77 0 385 5
X185 2101 0%xxkxxxx14422 SKEH 88 78.9 83.45 B
T 23118###xrxxx 14045 IKRIE R 82 84 83 v
BEARIE | 21018%xxxx0xxx84920 3K 86 79.1 82.55 =
B K | 21010%kxxxx51728 SKIEHE 83 81.9 82.45 yos
OEE | 21010%xx+xxx35528 SKEH 82 82.3 82.15 2
=B 21010#*#xxxxx70042 SKIEE 82 81.4 81.7 =
FEFEL | 21010%000xx01041 SKEHE 84 78.9 81.45 2
=5 21010#**xxxxx12723 SKIEHE 85 77.7 81.35 yos
X7+ 2101 0%wkwnnnx 72224 3K 80 82.5 81.25 2
X|ERE | 2101 1#x#xxxxx35729 IKRIE 79 83.5 81.25 v
BFEFE | 21042%00000%60045 3K 84 78.4 81.2 2
BWHRZ | 21128%xxxxx34426 IKRIE 83 79.4 81.2 2
FLiE 21038#*xxxxx+63128 IKEH 84 76.8 80.4 2
BB | 21011 wsxrrxsr6602X SRR 82 78.7 80.35 B
BEF | 21080%xxxxxx12024 IKEH 80 79.8 79.9 =
&7 21010#######x65829 Ry NEES 81 78.7 79.85 s
% 21018#**xxxx+64028 IKEH 80 79.4 79.7 =
OFiy | 21010%xxxxxxx95527 IKRIE 77 82.2 79.6 ys
X2 2101 2##xxxxxx30027 IXEH 82 77.2 79.6 2
FNERE | 21012%%%%%%%%00326 IKRIE 81 77.8 79.4 2
BREE(E | 21010%xmxxxx15821 3KEE 77 81.6 79.3 o
FBAA | 21010%0xxxxxx10021 IKRIE 77 80.9 78.95 5
o 210925#xxxxxx27028 3SKEE 83 74.8 78.9 s
k3 2101 0%**xxxxx21219 3KIEH 80 775 78.75 =
Z=5 2101 0%xxxxx5x%x36026 IKEH 77 80.5 78.75 &
=5 23062##xxxxx+80628 3KIEH 79 785 78.75 =
DAk 3 21120##*xxxxx52790 3KEE 80 77.3 78.65 s




FHR | 21148%00xxxxx62017 3K 80 76.9 78.45 &
{EE | 22028 xxx00xx27022 3KEH 79 77.9 78.45 =
FFM | 21010%00xxxx52716 IXE 81 75.3 78.15 =
=57 23030#######xx44014 Ry NEEES 80 76.3 78.15 5
SEEE | 2101 1xxxerxxxd 0827 3KEE 83 73.2 78.1 =
F—18 | 21010%###***x73418 Ry NEEES 78 775 77.75 5
TREEEE | 21012%x0kxxxx30228 3KEE 79 76.5 77.75 =
BR{E 21010%xxxxxxx56124 SKEH 78 77 775 5
FAFZHE | 21018x+xxxxxx23425 Ry NEEs 78 76.4 77.2 &
Fis 21071 Qx*rsrxx82523 IXREH 77 77.3 77.15 &
EXTE | 21010%%#*++x90929 Ry NLEs) 78 76.2 77.1 &
F5 3% 21050######%x10024 Ry NEEES 80 735 76.75 5
2 21050%xxxxx+x60369 Ry NLEs) 78 75.4 76.7 &
FEWFE | 21010%x000xx21621 Ry LS 77 76.3 76.65 =
Vak 21010%xxxxxxx52726 Ky N EEs 79 74.1 76.55 &
Kk 2101 1xwxxrnxx11220 Ry LS 79 74.1 76.55 =
FEW | 21090%#*xxxxx0102X 3B 77 75 76 =
Big 21010#**xxxxx84925 Ry NEES 77 72 74.5 =
2R 21010%xxxxxxx8471X 3XNEH 80 68.6 74.3 =
XEFEN | 21010%xkkxxxx64643 SKIEH 79 0 39.5 =
FhEGE | 21010%xxxxxxx02528 AT 86 92.2 89.1 =
TEELHE | 21010%00xxx%x84326 ARG 87 88.8 87.9 yos
SREEEE | 2101 Lxxrrrrxx13629 AT 88 84.7 86.35 =
IEES 21128 #kknnnnx51821 AR 84 85.8 84.9 B
XEE [ 21010%xxxxxx%63428 ARSI 85 84 84.5 yss
NG | 21010%xx#xxxx43319 AT 85 83.8 84.4 2
T | 21010%xx0xxx65660 ARSI 83 85.5 84.25 yos
XFER | 21010%xx0#xxx03024 AT 83 85.1 84.05 2
NX|ZEE | 21080%xxsxxx52524 ARSI 84 83.8 83.9 yos
ZFEFE | 21128xxxx0xxx00226 AT 80 87.6 83.8 2
FEE | 21010%x0xxxx%x23420 ARSI 84 83.4 83.7 yos
EMS 2101 0#**xxxxx13331 AT 80 86.9 83.45 2
AR | 21018xxxxxxx68016 ARSI 79 87.7 83.35 yos
FRIFS | 21012%kkkxxxx50222 AT 82 84.6 83.3 2
=E 23030#**xxxxx45721 ATEH 80 86.6 83.3 yos
ok 21010#**xxxxx31239 AT 79 87.5 83.25 o
XPMT | 21010%######x85023 AR 82 84.1 83.05 s
FRETE | 21010%xxkxxxx70925 AT 79 87.1 83.05 o
XJEBEE | 21010%xxxxxxx0006X AR 81 85.1 83.05 s
BEEE | 21018xxwxxxxx18323 ATg i 82 84 83 2
FEE | 21012##++xxx10025 AR 83 82.8 82.9 ys
BT 21010#**xxxxx 75429 AT 83 82.5 82.75 o
FINSE | 21012%xxx0xxx92715 AT 79 86.5 82.75 2
FWE | 2101 1ewooxx41022 AT 84 81.3 82.65 o
B | 21010%kxxexxx31712 AT 81 83.9 82.45 2
E—5 | 21012xm0kxxxx71022 AT 79 85.7 82.35 o
R 21041 xxxxxxrrx 44148 ARg 80 84.6 82.3 =
ol IRk 2101 2%xxxx0kx1022X AT 80 84.6 82.3 =
Zz1 371325#xxxxxx06197 ARG 81 83.5 82.25 yos
ZJkiA | 21130wsksrxxx4085X AT 81 83.5 82.25 =




R385 | 21010%%xxxxxx20947 AT 81 83.4 82.2 s
EFHE | 21090%xx#xxxx20525 ARG 80 84.4 82.2 =
XFER | 21010%xxmrxxxd2714 AT 80 84.2 82.1 &
MRIZE | 21012%xxx0+xx80443 ARG 81 83.2 82.1 =
HIER | 21010%xxkxxxx60027 AT 82 82 82 &
BRET | 21010%x0exxxxd 462X ATGH 79 85 82 =
ks 2101 2##xxxxx+61626 AT 82 81.8 81.9 &
ERFE | 21122%0000xx25641 ARg 83 80.7 81.85 5
ZET | 21018%xxxxxx6803X AT 79 84.6 81.8 =
BN = 21010%####x#x65627 ARg R 80 83.5 81.75 5
BIRETE | 21010%#xxx%+x55310 ATGH 80 83.2 81.6 =
BERRAR | 21010%xwxxxxx75549 ARG 80 83.2 81.6 =
T 2101 2%xxxxx%x96014 AT 81 82.2 81.6 =
RE | 21012%0x0xxx01222 ARG 81 82 81.5 =
%= 2101 2##xxxxxx00224 AT 79 83.8 81.4 5
BKERT | 21018xkkxxxxx3274X ATg i 80 82.8 81.4 &
BX 21010#*#xxxx+90031 AT 82 80.5 81.25 =
FREX | 2101 1xxxkrxxx62026 ATg i 80 81.2 80.6 &
Z=3 21078##xxxxxx41620 AT 81 80.2 80.6 =
= 21090#**xxxxx 71526 ATGH 82 79 80.5 &
% 2101 1wwrrrrxx31246 ARg A 80 80.8 80.4 &
BE | 21028xxkkkxxx10040 ATGH 80 80.7 80.35 &
X hE 2101 2#*xxxxxx82126 AT 79 81 80 =
ZRF | 22028xxxkkxxx40640 ATGH 79 80.9 79.95 &
XA 2101 2##*xxxxx60410 ARSI 81 78.7 79.85 =
£2 21010#**xxxx+60323 ARG 81 78.1 79.55 &
ZZEE | 21010%xxxxx6631X AT 80 785 79.25 5
ZEME | 21010%0xxxxx42120 ARG 79 79.1 79.05 &
e 21010#**xxxxx12514 AT 83 74.5 78.75 5
ZHE | 23230%0exxxx82438 ARG 80 76.5 78.25 &
iGN | 21010%000xxx24014 ARSI 79 77 78 =
XIBE | 21010%xxkxxxx84022 AT 82 73.9 77.95 =
323 21010##*xxxxx23924 AT 83 72.2 77.6 5
ik 21040%#*xxxxx71720 ARG 82 72 77 =
ki 21010%xxxxxx40020 AT 81 72.7 76.85 =
=5 21010##*xxxxx92810 ATGH 79 73.4 76.2 =
FAEEA | 21010%xxxxxx 74319 ARG 81 70.8 75.9 =
FBIEF | 21012%x0kxxxx70832 ATg i 81 67.2 74.1 &
X I ek 21010%xxxxx%x43416 AT R 81 66.5 73.75 e
kE 21010#**xxxx+00319 ATg i 84 0 42 &
=B | 21122%00000652824 AR 79 0 39.5 5
SR 21018##*xxxxx42440 5L BE 84 83.3 83.65 2
XEB | 21042%xxxxxxx21813 SLERE 84 81.6 82.8 yos
BREEAS | 21010%xxxxxx84624 5L BE 82 83.3 82.65 2
FREES | 21010%xxxxxxx71423 SLERE 78 86.9 82.45 yos
B 21038wxxxxxxx 24745 5L BE 86 78.8 82.4 2
X|FEZE | 21012%###xxxx03427 S5OERE 81 83.1 82.05 v
3 2107 2#xxxxxxx30717 5L RR A 82 81.6 81.8 2
E-DN 21010######+xx94943 S5OERE 79 84.3 81.65 v
FBRE | 21010%xxrxexx6284X 5L RR A 82 81.3 81.65 2




% 2101 2##xxxxxx30631 5O BRI 76 86.6 81.3 =
KIHIR | 21010%##++++x91918 S5OERE 83 79 81 v
FRAASSY | 21010%xxxxnexd222X 5L RR A 80 81.7 80.85 2

EL 2101 0%xxxxx%%x13612 S5OERE 80 815 80.75 =
EEF | 21142%xx000xx45242 5O B 84 775 80.75 =

&8 2101 0%xxxxxxx61612 S5OERE 79 81.9 80.45 =

£ 21010#**xxxxx16325 5O B 79 81.8 80.4 =
BFE | 21010%##+x52816 S5OERE 80 80.7 80.35 v
BERLT | 21010%xxxxxxx50223 5O B 81 79.3 80.15 =
FRLIFE | 21010%+ekxsxx51013 SO RS 76 83.6 79.8 B

FiE 21010%**xxxxx63724 5O B 80 79.3 79.65 =

oK 2101 2#####xxx30845 S5OERE 76 83.2 79.6 v
SRR | 15222%kmkxxxx36511 5O B 79 80 79.5 =

BER 21010%#kkxxxx45015 S5OERE 79 79.8 79.4 &
ZET | 21100%xx0xxx12024 5O B 79 78.8 78.9 =
Z=T58 | 21011x00xx10015 S5OERE 76 81 78.5 &

FhFF 2101 2##xxxxxx71020 5O B 84 72.8 78.4 =
TP | 21010%##xxxxx10321 S5OERE 81 75.4 78.2 &
ERRR | 21010%0#xxxxx05324 5O B 81 75 78 =
FRESE | 37080wx##xxxx64547 S B&E 76 79.7 77.85 &

X R 23062#*xxxxxx94521 5O B 79 75.6 77.3 =
X458 | 21010%%#xxx+x60916 S5OERE 79 75.5 77.25 &
ZEE | 21010%00xxx17217 5O B 79 75.3 77.15 =

fNGR 23020%###xxxx40626 S5OERE 78 76.2 77.1 &
FEH | 21010%xxxx06xx21520 SOERE 79 75 77 5

FE 2110055536667 S5OLERE 79 74.6 76.8 &
SKAASE | 2101 1xswsnxxx24225 SLERE 76 775 76.75 5

B 2101 2555055 7062X S5OLERE 77 76.3 76.65 &

& 21122 xxxxxxx5682X SLERE 78 75.3 76.65 5

PN 2101 0%xxxxxxx05329 S5OLERE 76 76.9 76.45 &

BB 2101 0#**xxxxx85822 SLERE 78 73.6 75.8 5

ol 2101 0%xxxxx5+%x 23016 S5OLERE 77 74.2 75.6 &
HIER | 21041xkxxxxx5321X SLERE 76 71.8 73.9 5

%75 22032xxxxxxxx19261 S5OLERE 76 71 735 &

I 1521 2#xxxnx 70027 S5OERE 77 69.5 73.25 =
AR | 21010%xkkxxxx63426 5L BRI 77 65.3 71.15 s
EHE | 41270%00xxxxx54148 S ERE 76 65.4 70.7 =

b= 21010#**xxxxx25623 SO RS 82 0 41 s
RPN | 21018xkwxxxxx58057 S5O ERE 76 0 38 =

BEE 21138##xxxxxx70026 6 TH 1% 86 77 81.5 o
ZESK | 21128%xxeexxx50524 6F ™% 86 73.2 79.6 &

=R 2101 2##xxxxx+60019 6 TH 1% 79 79 79 o

HPFH 21010#######%x45723 6™ 81 76.8 78.9 ys
ZEE | 21010%0000x72742 6% 83 72.7 77.85 2
ORE | 2101 1sxsrrxxx03241 6 80 75.3 77.65 s
BBAAEE | 21088xxxxxxxx25536 6% 83 71.1 77.05 o
SRR | 21012+xxxxxxx63248 6F T % 83 70.7 76.85 yos
HER | 21018xxxxexxx61524 6™ 78 75.4 76.7 =
EREESC | 21010%xx#xxx90920 6™ 78 74.8 76.4 2
BTFH | 21010%%%%%%xx26025 6% 81 71.1 76.05 2




FHE | 21062xxxxxx+80666 6™ 79 73 76 =
xiB 2101 Lrwrxxxx20018 6™ 81 70.8 75.9 =
FEER | 2101 1xxmerrxx5572X 6R ™% 80 71.1 75.55 =
ER 21122%xxxxxx%80625 R 79 715 75.25 =
FEF | 21120%00xxxx61767 6R ™% 82 68.4 75.2 =
4BER 21010#######x30426 6 TiA 81 68.4 74.7 2
FPEEZE | 21010%kmwxxxx23127 6R ™% 77 71.8 74.4 =
NE 21040%xxxxx4x52727 R 84 64.8 74.4 =
BEFIE | 22052%xkmkxxx40620 6R ™% 77 71.8 74.4 =
I 2101 0%#xxxx4%72220 R 78 70.6 74.3 =
=L 21010#**xxxx+63928 6% 82 66.4 74.2 =
BN | 21012%xxxx6%x82814 6F T % 83 65.1 74.05 =
BEE | 21010%xxxx+x46120 6RI 1% 77 70.9 73.95 =
A | 21011eeoxx23621 6% 80 67.7 73.85 =
BXIBUE | 41032xxxerxxx78624 6% 78 69.6 73.8 &
SFE | 21018xxxexxxx48321 6% 77 70 735 =
FFIF | 21132%0kxxxxx 74229 6FI % 77 70 73.5 =
il 21010#**xxxxx91427 6% 77 69.8 734 =
IR 21148wxxxxxxx20827 6% 79 67.4 73.2 =
XZRE | 21138xxmwrxxx21815 6% 77 69.2 73.1 =
FF 21018#*xxxxxx68321 6Fa ™% 80 65.5 72.75 =
Hik 21122##xxxxxx93623 6% 78 67.5 72.75 =
EXAEFH | 21010%####++x64710 6% 78 67 725 &
X AR 21010#**xxxxx90625 6% 77 67.3 72.15 =
ZPFE | 21010%x0xxxx43144 6F ™% 80 64 72 5
o 21070w*xxxxxx42228 6EI T % 80 63.8 71.9 i
BEAEN, | 21010%+*xxxxx5002X 6% 80 62.9 71.45 5
= 21010%#*xxxxx45260 6T 77 65.7 71.35 i
BEE | 21010%%xxxx25745 6™ 77 65.1 71.05 =
SR 21010#**xxxxx92713 6T 77 60.8 68.9 i
3 21010w*xxxxxx62717 6EI T 77 58.5 67.75 =
ZpEd 2101 1wsxxxxx73925 6EI T % 79 0 39.5 i
pypES 2101 1##xxxxxx03623 73t 86 74.1 80.05 yos
2| 21122 ##kxrxxx 38849 73ET % 80 76.3 78.15 2
XIERE | 21088xxrkxxxx50628 7dEH% 80 75.9 77.95 yos
B | 21012%0004x30615 7iE % 81 74.4 77.7 =
IBILAE | 21010%xxxxxrrxd 2713 71t 83 72.3 77.65 =
EBSEE | 21021x000000x 74327 7iE % 81 74.2 77.6 2
iy 2107 8##wrrrxx13021 7iEH 1% 80 745 77.25 s
FNSTPE | 21010%%xxxxxx11528 7iE % 78 76.4 77.2 2
LR | 21102%xxx0xxx20829 7iET 7 80 74.4 77.2 2
BXYE | 21010%xxxxx4002X 71tH 7 79 74.6 76.8 2
AEEF | 21010%0xxxxx84626 7dEH % 84 69.3 76.65 B
BIRFE | 21030%x#xxxx32928 7iEH % 79 73.8 76.4 =
(7% 3 2207 0xwrrrrrx41022 7iEH 1% 83 69.8 76.4 s
EH Tk 2101 0%xxxxxxx9022X 7iE % 84 68.5 76.25 2
i 2101 0%xxxxxxk 24524 74t % 78 74.3 76.15 =
=y 21010#**xxx*+94058 7itd% 85 66.7 75.85 &
MR | 21092%xx0exxx13044 74T 82 68.6 75.3 =
ERBB | 21012+0000xxx61648 7iE™ % 78 714 747 &




FEE | 21042x00wxxxx44226 73k 79 70.4 74.7 s
RE 21010%xxxxxxx50749 71t 81 67.8 74.4 &
*BE 21010#**xxxxx54025 71t 80 68.8 74.4 s

FEFE | 21010%0000000x00021 7iET % 81 67.7 74.35 )

kiE 2101 1#xxxxxxx04229 71t 78 70.5 74.25 =
=i 2101 1xxxxxxxx90028 7iET % 80 68.4 74.2 =

ZHAIE | 21062xxxxxxx34011 71t 79 69 74 5
REE 21010#**xxxxx50929 73ETiA 81 66 735 =

SENISE | 21092%xxxxxkx8692X 71t 79 68 73.5 =
Kk 21050%xxxxxxx81847 7™ 79 67.6 73.3 5
FRvE 2101 0%xxxxx+x00619 73td% 82 64.5 73.25 &
TFi¥ 2106 2xxxxxxxx6 7640 7iET % 78 67.4 72.7 =
RE 21010#**xxxx+40613 71t 83 61.6 72.3 =

Rk | 21018xxsxxxxx54024 71t 79 61.3 70.15 &
BE 21010##*xxxxx21020 71t 78 55.4 66.7 5

£EW | 21010%00000xx40343 7iET % 79 419 60.45 &
AE 21030#**xxxxx61229 8K M 86 86.9 86.45 =
IR 1401 0%xxx0%%1062X = 90 80.5 85.25 2

BrfEtg | 21018xxwexnxx20045 8K M 87 81.3 84.15 =

HER 2107 2##xxxxxx83529 = 83 84.5 83.75 2
BR3¥ 2101 1 #wsxxxrxB6242 8K M 87 80.4 83.7 =

BfEZ | 23040%xmxxx50210 = 80 87.3 83.65 2

=F-3:! 2111 0x#wxwxxx31722 8K H 82 84.8 83.4 =
EsEAN 2101 Trwrxrsxx22528 8K H 83 83.6 83.3 yos

EEFZ | 21010xx000x4x1662X 8K H 84 81.4 82.7 yss

REL 21038 #xxxxxx23182 = 84 813 82.65 =
=¥z 21040%xxkxxxx41521 = 82 82.4 82.2 =

EFHR | 21120%000000x44521 8K H 81 83.4 82.2 =
ST 42098xxxxixx13822 8K H 83 81.2 82.1 =

HEE 2101 2%#xxxxxx11223 = 81 824 81.7 =
i 2101 0%xxxxrix1342X 8K 5 84 79.4 81.7 =

Bok#E | 21011wwmnnx52214 8K H 80 83.2 816 =

F—K | 21012%#xxxxxx90326 = 81 82 81.5 =

sKHTET | 21011wmoeeax5264X 8KH 82 80.9 81.45 =

FRE | 21010%xxxx+65366 8K 5 84 78.7 81.35 =

A | 21010%xsxxx87225 8K B 81 81.4 81.2 o
FE 2101 2#x#xxxxx80020 8K H 84 78.2 81.1 =

BeAEr | 21011wemsennx45123 8K B 84 78 81 o
%8 22058+ x*xxx+x91128 = 82 79.8 80.9 =

HEE | 21038kexrnexx24322 8K B 81 80.7 80.85 s

EPFE | 22038xxxxxx31128 8Kk H 84 774 80.7 B

P AE | 23272xxmnnnx (2416 8K H 81 80.2 80.6 B
= 34122 xxxxxx80047 = 81 80.1 80.55 5
&1t 21040%#*xxxxx11224 = 84 77 80.5 s

RREF | 21011xxxxxxxx61827 8K H 80 80.9 80.45 &

S | 21148x0000+06245 8K H 82 78.6 80.3 B
=i 2107 0xxxxrrrx2201X = 80 80.3 80.15 5

BEE | 21011xe00ax21520 8K H 83 77.2 80.1 5

SRBElE | 21010%xwxxxx74019 8K A 85 75.1 80.05 =
DR 2101 Twsxxxsx21521 8k B 80 79.9 79.95 s




BRRIE | 21012%x04x50639 8k H 81 78.8 79.9 =
B 21088#xxxxxxx70832 = 80 79.7 79.85 &
FFEE | 21018xxkkxxxx54616 8K H 82 77.5 79.75 =
INEEE 2101 0#**x*x%x64926 =] 80 79.4 79.7 &
Koo [ 21010messenx71221 8B 80 79.2 79.6 =
R 2101 0% xxxxxx16623 = 83 76.1 79.55 &
Fi# 21100#**xxxx+63129 8B 80 79 79.5 =
2 F 2101 0% *xxxxx53023 = 80 785 79.25 &
£ 21128##xxxxxx50824 8K B 81 76.8 78.9 =
%50 2101 2#*xxxxxx40449 8k A 80 77.7 78.85 =
BT | 21012%0xxxxxx80329 8K H 82 75.6 78.8 =
gL 21042%xxxkxxx6001X =] 80 77.4 78.7 &
#BEL 21010%xxrxxx8281X 8K H 81 76.2 78.6 =
sk J53C | 21040%kkxrkxx7332X 8K H 83 736 783 B
BAEH | 21032%00xx6412X 8K M 80 76.4 78.2 =
EEE | 21142000000 7522] 8K H 80 76.1 78.05 B
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